[N of reco track vs normalized x2 ]

N of associated (recoToSim) tracks vs normalized X?

(%] 1%} 4] 0
x x < x
Q Q o (5]
g g g 8
[} 3 o Q
E 10 :‘E §
=
=]
o
I L
=] H e =] S H 5
T I I T T : :
o B 14 o 14 . .
[ o5F- -+ B
i 0.95fk% 41 - - b o § H H
b 14 o CEL o o ) e N N
4 10 12 14 16 18 20 O'“L 2 16 18 20 0"0 2 4 6 8 10 12 14 16 18 20 CO 2 6
track x2 track x2 track x2
—— B B e e aapm
N of reco track vs. § ————— B M—leeISBEN%I%\?R step ﬁ%ar-gﬁasqef-newgeom
(%] 1%} 2]
x < %
8 g g
§ 10° %
10%F
10
1
o o o
K 8 1 s
o 14 o
0.98

N of associated (recoToSim) looper tracks vs normalized x*
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